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NEW QUESTION 1
A Customer Success Manager must deliver high touch customer success experience. Which customer engagement model must be used?

A. Utilize a digital engagement so all your customers experience the touch of customer success
B. Utilize people to focus on the elite customers for a 1:1 or 1:few onsite customer success experience
C. Utilize the service team to form a larger internal team to lead the engagement
D. Utilize people to focus your customers in a 1:many customer success experience

Answer: A

NEW QUESTION 2
Which of these is included in a success plan?

A. confidential customer information
B. customer business outcomes
C. customer HR processes
D. services cost

Answer: BD

NEW QUESTION 3
Which type of analytics has telemetry that shows the customer’s use of the software and defines what has happened to date?

A. descriptive
B. diagnostic
C. prescriptive
D. predictive

Answer: B

NEW QUESTION 4
A customer is coming up for renewal in 180 days for three solutions. One of the solutions has not been fully enabled. The other two solutions are in regular use in
production. How should the Customer Success Manager address the one solution that has not been fully enabled?

A. Contact the services team and request that they reach out to the customer to address the solution
B. Make the renewals manager aware that the one solution is not fully implemented but the other two are fine
C. Investigate why the customer has not enabled the solution and work with the sales and renewals teams to address the issue
D. No action is needed because the customer will probably renew and you can address the issue after the renewal

Answer: B

NEW QUESTION 5
The customer plans to relocate to a new building in the existing area to reduce cost. The company wants to retain talent through this transition. Which two
business outcomes are critical to the company’s success? (Choose two.)

A. risk management
B. employee satisfaction
C. cost efficiency
D. credibility
E. sustainability

Answer: BC

NEW QUESTION 6
The customer wants to reduce their exposure to security events. Which business outcome is critical to the company’s success?

A. risk management
B. market growth
C. sustainability
D. cost efficiency

Answer: A

NEW QUESTION 7
Customer A has 120.000 employees and a meeting booking system that is 20 years old. It provides a personalized service that arranges all aspects of video
conference meeting. This service includes 21 staff people globally. Customer A has invested in a video conferencing solution. Their desired outcome is to create a
cost-savings, self-serve approach to achieve business innovation through face-to-face communications. Which two main barriers to adoption does the customer
face? (Choose two.)

A. technical barrier
B. cultural barrier
C. process barrier
D. product barrier
E. cost barrier
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Answer: CD

NEW QUESTION 8
A customer has finalized all of their solution planning and will be deploying it over the next two weeks. As the customer Success Manager, what is the next logical
step to focus on for the customer’s lifecycle journey?

A. Quarterly Success Review build and delivery
B. service introduction to confirm that they know how to submit service issues at the go live
C. initial user group identified and their use cases confirmed
D. customer’s stakeholders and their business outcomes
E. additional features that will align with the business outcomes

Answer: AD

NEW QUESTION 9
Drag and drop three valid elements of a success plan from the left to the right. Not all options are used.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 10
Which list of components of a Customer Success Quarterly Success Review is common?

A. results from prior quarter, product roadmap, proposed marketing new products, and confirm goals for thenext quarter
B. results from prior quarter, agreed actions completed, benchmarking with the market, and confirm goals for next quarter
C. results from prior quarter, services delivered, issues and open services cases, and confirm goals for next quarter
D. results from prior quarter, cover roadmap and promote new products, and confirm goals for next quarter

Answer: C

NEW QUESTION 10
Which key industry trend explains the need for companies to invest in a Customer Success practice and Customer Success Manager role?

A. Service organizations must evolve from a “break fix” business model to proactive and pre-emptive services that help prevent problems for customers before
they arise and accelerate solution adoptio
B. The CSM advises and professional services team on the best services to position.
C. IT budgets are shifting to line of business decision makers who want to understand the business outcomes from technology investments before they purchas
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D. The CSM supports sales with use cases and testimonials for proposed solutions.
E. IT is increasingly adopting new consumption model
F. In a subscription economy, customers can cancel subscriptions if business value and tangible outcomes are not realize
G. The CSM ensures that the customer’s business outcomes are achieved with the shortest time to value.
H. The accelerated pace of innovation in the era of the Internet of Things confuses many customer
I. A CSM helps sales position the right technologies that will accelerate success for their business.

Answer: C

NEW QUESTION 11
Which two results of a successful customer onboarding stage are the most important? (Choose two.)

A. organization chart discussed
B. account relationships identified
C. desired business outcomes discussed
D. stakeholders identified
E. network diagrams discussed

Answer: CD

NEW QUESTION 15
Refer to the exhibit.

Which initial action does a Customer Success Manager take?

A. Run analysis on all the license types used by the customer on all platforms
B. Share the report with the customer point of contact for license types B and D and determine causes
C. Provide trending information on license types B and D and share with all stakeholders
D. Inform the Sales Account Manager to position a new version of licenses types B and D with additional features

Answer: A

NEW QUESTION 16
The customer wants to improve operational expenditure and reduce the C02 footprint of the organization. Which two business outcomes are critical to the
company’s success? (Choose two.)

A. sustainability
B. credibility
C. time to market
D. business growth
E. cost efficiency

Answer: AE

NEW QUESTION 18
Which item should the Customer Success Manager focus on to enable the adoption of a software solution?

A. KPI that will be improved by the new product solution
B. current existing products that are being displaced by the solution
C. current configuration guide of the product solution
D. product use case that will achieve the desired outcome

Answer: D

NEW QUESTION 23
What is the best reason for documenting your customer’s success?
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A. To provide awareness of the value achieved by the customer’s purchased solution
B. To establish KPI’s that measure the success of your company’s business
C. To document roles and responsibilities for your project management
D. To provide expansion opportunities for your sales team

Answer: B

NEW QUESTION 26
You notice a decline over time in your customer’s usage of your product. Which action do you consider?

A. Tell the customer a new solution will soon be available
B. Carefully tell the customer to get more people to use your product
C. Re-assess the customer’s business process and outline the capability of the solution
D. Show the customer a comparison of the solution versus the competition

Answer: C

NEW QUESTION 27
Your client, the Director of IT Policy and Governance of Easternbank, has just informed you that the CIO is dissatisfied with the current level of utilization of the
collaboration solution that was deployed 3 months ago. The client has requested a meeting to improve the situation. Which reports are critical to the success of the
meeting?

A. number of users registered, bandwidth utilization, number of training sessions user joined
B. number of users registered, service logs, number of users
C. number of users registered, number of meetings user initiated, number of meetings user joined
D. network utilization, number of meetings user initiated, number of users

Answer: C

NEW QUESTION 31
From a Customer Success perspective, which reason to monitor your customer’s health is the most important?

A. It provides the opportunity to address any changes in the customer’s experience or actions around the solution
B. It allows the customer to identify unused licenses so they can be addressed via a service improvement plan
C. Understanding your customer’s health directly enables renewals
D. It gives the customer valuable insight so they can automatically renew critical on time

Answer: C

NEW QUESTION 35
......
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